1 EEBREK

(1) #% - FipFdik - Abu@lehlErEs WERERER (T7-1)

(47N 5 4E %)
R AP *1 Bl

oo K D AL

i z S il % = *2

W 1,677 93 38 55 = = = 1,584
0~ 9k = — - - — — — _
10~1 9% 43 - - - - - - 43
20~2 9K 197 3 - 3 - - - 194
30~3 9 232 3 1 2 — _ _ 299
40~4 91 369 12 5 7 - - - 357
50~5 9 370 18 7 11 - - - 352
60~6 9 245 18 8 10 - - - 227
7 05%LL k] 221 39 17 22 - - - 182

*1 A5 AEEEN O R E BT

« EIRRAEARE, JIEBABEOE (RN OREMENREALE O 5 HENEEEDOEANR)

*2 ENCIRERZ A G (S6FE3H 30 A AT REAR)

(2) TETATR - FRA&FIEHES WERERER (T7—2)

(47 Fn 5 4
s I # R 59 o "
AN p=
#* jjj i \ wloEl i
, / 2 % ‘ BB | M o< | 2
@ ® 7 I ~ tE 2 A ] »nd
hes S & ]
=) e ~ ic1 o vy % vy i
te X Z1 T I A Y il & | My | A
i - % o
% " Lol w? ic
A =s . lﬂ‘ e '%' N - P‘f N
" K Iz 1 b E w # | L )
Bl ow | o o | gl 3
) % o o | BL | p® 7 ] o
(s ¢ ¢ 7 g i 2 » e o n
¥ o o P I W »
% u = 553 [g% Iz » 5 ﬁz
i fj}; fr@; i B i e
fis s s PN & ’iﬁ % i 2 Eiﬁjj 'y ity
n P PN v - A WX
- w
W W W W " I
wNiE| 1,584 53 20 399 | 638 | 145 7 16 12 93 48 | 153 -
R 1,018 29 9 228 | 445 | 104 5 11 4 62 34 87 -
ESE 187 7 2 50 75 16 - 3 2 9 4 19 -
A ki 379 17 9 121 | 118 25 2 2 6 22 10 47 -

*3 HREUE (1) Pk - TP - ABB@BERIRTEE O F R EH 2

(17-1) ho@peEE L FKE LTwET,

_61_

(55 7% FStbirbErsht]



2 THETAR] - SRR  AE AR B AL TIRFTRI E 0 (T7—3)

(S FISLEE)
X 4y *é‘?q]i%ﬁ%g*ﬁ G5 i) el =3 I ]
- FIRATREE 4L 0~97% | 10~197% | 20~297% [ 30~397% | 40~497% | 50~597% | 60~6975% | 705l 1| 1 & 2 ik 3 ik
IR 1,520 8 56 142 194 289 335 236 260 376 996 148
B 905 8 40 91 125 180 208 124 129 195 621 89
FRh 187 - 2 16 27 38 41 30 33 43 124 20
B Lt 428 - 14 35 42 71 86 82 98 138 251 39
3 M
(1) B RREAERERRI (T7-4—-1)
7 _HHEAEE (RIS
£ ) B (FH) R E o ZTHMHRKE 2
_ i tE kbR | PERREERY | % 5% | £ o il
1 BN 33 11 1 = 6 15 33
%i% BT 19 5 1 - 3 10 19
% e 3 - - 2 4
i RS L= 4 3 . , _ 1 4
T 1 - - - 1 -
A4 HBEAR (SH5EE)
Jis N B
(Ftooife)
EDNENECIN - | e . . DOBHE| 55 | apen. . R
T HEER T va—y Y | Xy T F TR S0 | aope BREE | TADA | £ Ol B Oxzby | FeEhes | [ R pre— ST
I BN 33 1 = 1 = = = = 10 = = = 37 49 = = 1 - - -
1@ B 19 - - - - - - - 10 - - - 11 21 - - 1 - - -
g% ES ) 9 1 - - - - - - - - - - 22 23 - - - - - -
fita BB L 4 - - 1 - - - - - - _ _ 3 4 - - - - — _
| Bz of 1 - - - _ _ _ _ - - - - 1 1 - - - N N N
U FHER ORI (SIS
3 4 g | RIS BRI ~F3
| ok | B | o k[ 8 4k [ 2 o fil it
" BN 33 4 7 6 2 7 22
Eﬁ pa i 19 4 3 4 1 2 10
P .
% | RRif 9 - 1 2 1 4 8
e ji =) 4 - 2 - - 1 3
éj\
ANH - Z At 1 - 1 - - - 1

- 62 - (55 7% Kb irbdrsat]



(2)BEIFEHEHE GBRLZZAORBMHEYE) EERE (T7—-4-2)

7 FEBAE (4370 5 4EE)
(/B ) #H B &5 o % & K
ES NSRRI S . N
T [T o | hHE | RIEH | V-Tro ] RO | O
ENKIK 5 5 5 - 4 1 - - -
BT 1 1 1 - 1 - - - -
B0 - - - - - - - - -
ER LT 3 3 3 - 3 - - - -
R - Z0fth 1 1 1 - - 1 - - -
A4 HEAR _ (40 5 4EE)
%= A B iz A A
| EEE | EARE | BAARE | B W | LR | FERR DV Z D il
B 5 - - - - - 1 - 4 5
BT 1 - - - - - - - 1 1
ES-0i - - - - - - - - - -
AR T 3 - - - - - 1 - 2 3
ARH - Zofh, 1 - - - - - - - 1 1
VORISR _ (4 5 4R )
. _ AR R ~FR T
# AN B illisr = H > .
£ N B | Mk B G ErTIEE R P Z O
BRI 5 - 4 - - - 1 1 -
i 1 - 1 - - - - - -
S - - - - - - - - -
B L 3 - 3 - - - - - -
R - Zofth 1 - - - - - 1 1 -
4 BB N—7158 GERRE X BEEE) (T7—5)
(B FIBAEFE)
B3 % =] P
B | FEs | Bils AA TBles | Zofh it
& INKREL - 1 1 - - - 2

- 63 - (55 7% FStbirbErsht]




5 FErREBALFEREMINT (T7—6)

7 HRR YT —7-3<YEE (HIRERE T ES (R ANSAEE)
F - = Rk BIAK %
Y RBOF G~ R AR B S > T — A0 | BB e, ok i
XA~ (r—AMRF) a3 R 2 — | PR
N I B PRTRERT - A S P P L6
B0 S JE IR B ORE P PR AR AL AR D ISR ) T IHE | Eidss s sy —x 7/ — 30
2 TAN—LZD LJEE %O
FRY 5 DY B
é\%ﬁ’?gﬁ%@%z%ggwﬁg%%fhﬂl{ﬁif:ﬁ%f)’%@i% S A LY 3N
£ FHEHE (PFISEE)
5 — = Rk BN %
U _ZOfMDOEHE (£ FBAERE)
7 — = Rk BN %

G S i

B S AL TR B A N O &
PTG E

83 A 695 AT

g B W L A T A8 A [ 35

WA T SR
ETHR—Z—DIE (SN —TFI—F 47 NS

N 35A
BT T 436 2 (5 67 PR T PR R B T | TR, A BB . M -
NS ) HE B s b s

ABREE K OYFASZ Y7 015}

AR R S — BT
YR—2 — PREEFTIE

12N |ET7HR—=Z—D
SIMAEL 23 A

_64_

(55 7% FStbirbErsht]



6 FEMREFEM - BREHRRI (T7-7)

(5fn 5 AEHE)
AR ofs g (i AN R
EAR | % - (FroFH) AR
B N L |7 — B3 4 " moE o | Y [ s 7 z B SENE
pranpage | TERER | Tes o) g | Ry e Tul oo | BRI TSN | R | TAL | 2 o i G B — ks | 5 =
B Ok

TRIEFTR S 4 = 6 = = = = = = = = 18 24 = = = = = 176

| B 3 - 6 - - - - - - - - 5 11 - - - - - 47
i

w| s 1 - - - - - - - - - - 13 13 - - - - - 15
g

2| Es L - - - - - - - - - - - - - - - - - - 106

R - 2ol - - - - - - - - - - - - - - - - - - 8

gt 51 3 16 8 = = = = 56 6 = 45 129 42 14 1 = 1 502

S L 21 2 15 - - - - - 56 6 - 4 83 21 13 - - 1 105
i

o | Fkit 3 - 1 - - - - - - - - 5 6 - - - - - 372

#B b 27 1 - 3 - - - - - - - 36 40 21 1 1 - - 25

- 65 - (55 7% Kb irbdrsat]




